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QUESTION ONE (30 POINTS)   ي الصفحة الأولى
 
  الرجاء نقل رمز الإجابة الصحيحة على الجدول ف

 
is:in 0.020415  figuressignificant The number of  -1 

 2 -a b- 4 c- 5 d- 3 

 

4of manganese Mn in KMnO oxidation numberis the  hatW -2 
 
a- +2    b- -2         c- -7            d- +7 
    
3- For the following reaction Identify the conjugate acid/base pair  
 

                  CH3COOH + H2O ➔ CH3COO- + H3O + 

a - CH3COOH / H2O                            c- H2O / H3O+ 
      b- CH3COOH/ CH3COO-                               d- CH3COO- / H3O + 
 

needed to prepare are of 5.6 M HCl solutions  ow many millimetersHIn the dilution process.  -4

490.0 ml of 3.8 M HCl solution? 

a- 233.5 ml 
 

b- 299.4 ml 
 

c- 332.5 ml 
 

d- 177.0 ml 
 

 
is called atmospheric pressureused to measure the  instrumentThe  -5 

a- Seismometer 
 

b- Hydrometer 
 

c- PH meter d- Barometer     

6- Which of the following gases would have the lowest average molecular speed? 

a- N2  2CO -b c- Ar   d- H2 
 

7- Solutions of K2SO4(aq), Pb(NO3)2(aq) are mixed together. What is the likely precipitate? 
 
a- K2SO4 
 

b- Pb(NO3)2 c- PbSO4 d- KNO3   

8- What is the density of Xe gas at a pressure of 2.40 atm and a temperature of 10°C? 
 
a-       82.3g/L         b- 8.65 g/L         c- 13.6 g/L d- 0.64 g/L  

 

9- The electron configuration of Magnesium (Mg) has …………unpaired electrons and its  
 
a - 1, paramagnetic                              c- 2, Diamagnetic     
 b- 0, Diamagnetic                                d- 2, paramagnetic 
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10- The electron configuration of Copper Cu is 
a- [Ar]4s13d5 
b- [Ar]4s23d9 
c- [Ar]4s13d10 
d- [Ar]4s23d4 

11- What is the concentration of Na+ in 0.65 M of Na2SO4? 

a- 1.3 M  b- 1.95 M c- 0.65 M 

 

d- 0.325 M  

12- A mixture of gases contains 8.24 mole of CH4, 0.421 mole of C2H2, and 0.116 mole of C3H6 if 
the total pressure is 1.37 atm, calculate the partial pressure of CH4 gas. 

a- 1.92 atm b- 0.0181 atm c- 0.0657 atm 

 

d- 1.29 atm 
 

 
13- Which one of the following sets of quantum numbers is not correct?      

a- n=4 , l=3 , ml= -3, ms= +1/2  

b- n =4, l=2, ml= +2, ms= - 1/2  

c- n=4,  l=4, ml= +2, ms= +1/2  

d- n=4,  l=1, ml=0 ,   ms = +1/2 

  

14- Which of the following is the electron configuration of Na+? 

a- 1S22S22P6 13S62P22S21S -b 42P22S21S -c 

 

d- 1S1 
 

 

15- Which of the following species has the highest number of unpaired electrons (single 
electrons)? 
 

a- S - b- S c- S  + d- S-2 

 
16-What is the maximum number of electrons in the d-orbital? 
 a - 10                       c- 6                b- 14                      d- 2 
                                     
17- Which of the following is not isoelectronic with a noble gas?  
a- S2- b- Ba+ c- Al3+ d- Sb3- 
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18- Describe the change in hybridization (if any) of the Al atom in this reaction: 
                             AlCl3 + Cl-                             AlCl4 

- 
 

a- p→sp2  b- sp→sp2  c- sp2→sp3  d- sp→sp3 
 

19- How many grams of KHP (molar mass 204.2 g/mol) are needed to neutralize 15.5 mL of a 
0.12 M NaOH solution?  
 a- 1.86                       b- 3.79                          c- 0.55                   d- 0.38  
 
20- Calculate the pH for 0.09 M of KOH solution. 
 

a-  13.78                 b-  12.95                  c- 5.22                d- 8.59 
 

21- The element that has an outer electronic valence shell 4s2 4p5 is? 
a-Br                                b-Na                                 c-Ar                     d- K  
         
22- If Kw is 1 × 10-14 at 25oC, what is the [H+] at 25oC, if the [ OH-] = 2.3×10-5 M? 
 
       a- 1.42×10-8 M          b- 7×10-7 M                 c- 4.35×10-10 M             d- 1×10-14 M 
 
23- The geometry of H2O is? 

a-Linear               b- Tetrahedral                 c- Bent         d- Trigonal planar 

  

24- Which one of the following does not obey the octet rule    

2OF -d                  2BeH -c                  4CBr -b             3PCl-a          

25- What is the number of nonbonding electrons (lone pair) in O2? 
a- 4                   b- 2                        c- 3                       d- 0  

 
26- What is the number of moles for 3.1 g sulfur S (32 g/mol)? 
 

a- 0.96                      B- 3.1                  c-   0.097                         d- 0.11 
 

27- if the Ka of HCN = 6.2x10-10, what is the Kb of its conjugate base CN- 

 

a- 1.6x10-5           b-6.2x10-10        c-1x10-14        d-6.2x10+4 

 

28- Which acid is the strongest acid? 

Ka of HCN = 6.2x10-10  Ka of CH3COOH =  1.8 x10 -5  

Ka of  HF = 6.3x10-4 Ka of HNO2 = 4.0 x10-4 

       
 a – HCN                               b-HF            c- HNO2                  d- CH3COOH 
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29- What is the volume in L occupied by 5.58 g of NH3 at STP? 
a- 125                           b- 22.4                c- 8.0                 d-7.4   
 
 
30- Which one of the following statements is correct? 
a. The volume of a gas is inversely (  عكس (proportional to the number of moles of the gas 
present. 
b. The pressure of a fixed amount of gas is directly proportional (طردي)to the moles of the 
gas. 
c. The relationship between pressure (P) versus 1/volume (1/V) is directly proportional. 
d. Both B and C. 
 
 
 
QUESTION TWO (3 POINTS) 
 
5.12 g of an ionic compound containing Iodide ion I- dissolved in water and treated with 
AgNO3 to form 6.37 g AgI precipitate, what is the percent by mass of I- in the original sample? 
((Molar Mass of I = 126.9 g/mol, Ag = 107.9 g/mol, N = 14 g/mol, O = 16 g/mol)) 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
QUESTION THREE (2 POINTS) 
For the next structure answer the following  
1-What is the number of σ bonds……………. 
2-What is the number of π bonds………………. 
3- The hybridization of the O atom is ……………. 
4-number of nonbonding electrons (lone pair) is ………………                                                                                                                                 
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QUESTION FOUR (3.5 POINTS) 

suppose 65.38 g of Zn (Mwt.=32 g/mol) is added to an HCl solution and H2 gas is liberated 
according to the following equation. How many liters of hydrogen gas would be generated, 
supposing that it was collected purely at 25° C and 544 mmHg pressure? 

                                Zn + HCl(aq) ➔  ZnCl2(aq) + H2(g) 
 

 
 
 
 

 
 

                                                                           
 
 
 
 
 
 
 
 
 
 
 
 
 
 
QUESTION FIVE (2.5 POINTS) 
 

a- Draw the Lewis dot symbol for sulfur atom S 
 
 
 

b-  Draw Lewis structure for CO2 (C is the central atom)  
 
 
                                                                                                                                 
 
 

c- What is the formal charge of labeled oxygen in HCO2
_? 
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Good Luck 


